KYUNGPOOK Math. J. 53(2013), 349-369 http://dx.doi.org/10.5666/KMJ.2013.53.3.349

q-Analogue of Exponential Operators and Difference Equations

MOHAMMAD ASIF Department of Applied Mathematics, Aligarh Muslim University, Aligarh, 202002, India e-mail: mohdasiff@gmail.com

ABSTRACT. The present paper envisages the q-analogue of the exponential operators, determined by G. Dattoli and his collaborators for translation and diffusive operators which were utilized to establish analytical solutions of difference and integral equations. The generalization of their technique is expected to cover wide range of such utilization.

1. Introduction and Motivation

One of the most appealing results to come out of q-analysis is that the qexponential function, defined by $D_q e_q^x = e_q^x$, where D_q is the q-derivative, also
satisfies the same defining functional relationship for ordinary exponential functions (up to normalization), given by

(1.1)
$$F(x)F(y) = F(x \oplus y),$$

provided that $xy = q^{-1}yx$. (that is, (x, y) belongs to the Manin quantum plane). This result was first found by Schützenberger [17] long before the non-commutative aspects of q-analysis were generally recognized and has been rediscovered many times subsequently e.g. in [1, 7]. It can be proved by means of q-combinatorics [1, 17], or by an argument based on the definition of the q-exponential as an eigenfunction of the q-derivative [7].

Besides the above well-known result, there is, in fact, an additional functional relation in the opposite order for the q-exponential functions, which is not so well known given by

(1.2)
$$F(y)F(x) = F(x+y+(1-q^{-1})yx)$$

provided that the same condition $xy = q^{-1}yx$ holds. We first became aware of this relationship in the work of L. Faddeev and A. Yu Volkov in their study of lattice Virasoro algebra [6] who obtained a similar result in the case of a different realization of the q-exponential, in terms of an infinite product. Their definition

Received March 6, 2011; accepted July 24, 2012.

²⁰¹⁰ Mathematics Subject Classification: Primary 33D15; Secondary 15A15.

Key words and phrases: q-Calculus, q-Exponential operators.

of the q-exponential suffered from the drawback that it did not go over into the ordinary exponential function in the commuting limit $q \rightarrow 1$. This paper is devoted to the discussion of methods which provide the solution of the classes of q-difference and generalized Heat equations and we shall see that the techniques we propose offer reliable analytical tools and efficient numerical algorithms.

For completeness we quickly review Schützenberger [17] and Cigler's result [1], which will be used in our subsequent proof:

(1.3)
$$e_q^x e_q^y = e_q^{x \oplus y}, \quad \text{if } xy = q^{-1}yx,$$

where

$$e_q^x \equiv \sum_{n=0}^{\infty} \frac{x^n}{[n]_q!}, \quad [n]_q \equiv \frac{1-q^n}{1-q}, \quad [n]_q! \equiv [n]_q[n-1]_q \cdots [1]_q$$

and q-addition is defined as

$$(x \oplus y)^n \equiv \sum_{k=0}^n \begin{bmatrix} n\\k \end{bmatrix}_q x^k y^{n-k}, \quad n = 0, 1, 2, \cdots, x \neq y,$$

q-substraction is defined as

 $x \ominus y = x \oplus -y.$

The Nalli-Ward q-Taylor formula [15, p. 345], [19, p. 259],

(1.4)
$$f(x \oplus \lambda) = \sum_{r=0}^{\infty} \frac{\lambda^r D_q^r}{[r]_q!} f(x).$$

In 2000, Dattoli and Levi[2] discussed general methods for the solution of difference equations, which appear in physical and biological problems. Their technique play crucial role in unifying the generalized families of the difference equation. In the present paper we have determined the q-analogue of the exponential oper- $\frac{\partial p(q)D}{\partial q}$

ators of the type $e_q^{\lambda p(x)D_q}$ used in [2], where |q| < 1, p(x) is a given function and $D_q = \left[\frac{d}{dx}\right]_q$. The action of the q-exponential operator on the generic function f(x) is defined as

(1.5)
$$e_q^{\lambda p(x)D_q} f(x)$$

To find the change of variable, put $x = \varphi(\theta)$, let

(1.6)
$$p(x)\left[\frac{d}{dx}\right]_q = \left[\frac{d}{d\theta}\right]_q \text{ or } \left[\frac{d\theta}{dx}\right]_q = \frac{1}{p(x)}$$

i.e.

(1.7)
$$\left[\frac{dx}{d\theta}\right]_{q} = p(x) \text{ or } \left[\frac{d\varphi(\theta)}{d\theta}\right]_{q} = p(\varphi(\theta))$$

let us write q-antiderivative of eq.(1.6), which is also known as Similarity Factor (SF)

(1.8)
$$\theta = \int^x \frac{d_q \xi}{p(\xi)} \quad \text{or} \quad \varphi^{-1}(x) = \int^x \frac{d_q \xi}{p(\xi)}$$

now return to the main operator, we have

$$e_q^{\lambda p(x)\left[\frac{d}{dx}\right]_q} f(x) = e_q^{\lambda\left[\frac{d}{d\theta}\right]_q} f(\varphi(\theta))$$

the q-Taylor series expansion enables to write

$$e_q^{\lambda \left[\frac{d}{d\theta}\right]_q} f(\varphi(\theta)) = f(\varphi(\theta \oplus \lambda))$$

or

(1.9)
$$e_q^{\lambda p(x) \left[\frac{d}{dx}\right]_q} f(x) = f(\varphi(\varphi^{-1}(x) \oplus \lambda))$$

where eq. (1.8) denotes q-antiderivative of the eq. (1.6) and $\varphi(\cdot)$ its inverse. For p(x) = 1, the $\varphi^{-1}(x)$ is given by

(1.10)
$$\varphi^{-1}(x) = \int^x d_q \xi = x,$$

therefore $\varphi(x) = x$, then the operator reduces to the translation or q-shift operator as follows

(1.11)
$$e_q^{\lambda\left[\frac{d}{dx}\right]_q} f(x) = f(\varphi(\lambda \oplus x)) = f(\lambda \oplus x).$$

Next example of application of the operator (1.5), for $p(x) = \frac{x(q-1)}{\log q} = xh$, (say) we obtain

(1.12)
$$\varphi^{-1}(x) = \int^x \frac{1}{h\xi} d_q \xi = \ln_q(x),$$

therefore, $\varphi(x) = e_q^x$, then the operator (1.5) reduces to the q-dilatation operator (see [8; eq. (9.12), p.32])

(1.13)
$$e_q^{\lambda x h \left[\frac{d}{dx}\right]_q} f(x) = f(\varphi(\lambda \oplus \ln_q(x))) = f(e_q^{\lambda \oplus \ln_q(x)}) = f(xe_q^{\lambda}).$$

As the ordinary shift operators and their properties play a central role within the context of the theory of difference equations [10]. One can, therefore, suspect that the above q-exponential operators and the wealth of their properties can be exploited to develop tools which allow the solution of different forms of q-difference equations. Mohammad Asif

2. q-Analogue of the Generalized Difference Equations

A simple example to understand how the q-exponential operators can help us to solve q-difference equations may be illuminating. Let us consider the linear qdilatation difference equation of the type

(2.1)
$$b_1 f(e_q^2 x) + b_2 f(e_q x) + b_3 f(x) = 0,$$

which, according to eq. (1.13), eq. (2.1) can be written in the following form

(2.2)
$$\begin{bmatrix} b_1 \ e_q^{2xh\left[\frac{d}{dx}\right]_q} + b_2 e_q^{xh\left[\frac{d}{dx}\right]_q} + b_3 \end{bmatrix} f(x) = 0.$$

Suppose $f(x) = R^{\ln_q(x)}$, we have

$$e_q^{\lambda x h \left[\frac{d}{dx}\right]_q} R^{\ln_q(x)},$$

here
$$p(x) = \frac{x(q-1)}{\log q} = xh$$
, then $\varphi^{-1}(x) = \ln_q(x)$ and $\varphi(x) = e_q^x$

or

$$\varphi(\lambda \oplus \ln_q(x)) = e_q^{\lambda \oplus \ln_q(x)} = x e_q^{\lambda}$$

therefore,

(2.3)
$$e_q^{\lambda x h \left[\frac{d}{dx}\right]_q} R^{\ln_q x} = R^{\ln_q (x e_q^{\lambda})} = R^{\lambda} R^{\ln_q x}$$

we can associate eq. (2.2) to the characteristic equation, we have

$$[b_1R^2 + b_2R + b_3]R^{\ln_q(x)} = 0$$

or

$$(2.4) b_1 R^2 + b_2 R + b_3 = 0,$$

whose roots R_1 , and R_2 allow to write f(x) in terms of the following linear combination of independent solutions:

(2.5)
$$f(x) = c_1 R_1^{\ln_q(x)} + c_2 R_2^{\ln_q(x)} = \sum_{\alpha=1}^2 c_\alpha R_\alpha^{\ln_q(x)}.$$

The above example indicates that we can extend well-established methods of solutions of q-difference equations to other types of equations reducible to ordinary difference equations, after a proper change of variable implicit in eqs. (1.5), (1.11).

To give a further example of the flexibility of the formalism associated with exponential operators, let us consider the generalized Heat Equation of the following type

(2.6)
$$\begin{cases} \left[\frac{\partial}{\partial\lambda}\right]_{q}Q(x,\lambda) = \left(p(x)\left[\frac{\partial}{\partial x}\right]_{q}\right)^{2}Q(x,\lambda),\\ Q(x,0) = g(x), \end{cases}$$

which can formally be solved by rewriting eq (2.6) as

$$\left[\frac{\partial}{\partial\lambda}\right]_{q}Q(x,\lambda) - \left(p(x)\left[\frac{\partial}{\partial x}\right]_{q}\right)^{2}Q(x,\lambda) = 0$$

which can formally be solved by considering this as ordinary linear q-differential equation of order one, whose I. F. is determined as

$$e_q^{-\int \left(p(x)\left[\frac{\partial}{\partial x}\right]_q\right)^2 d_q \lambda} = e_q^{-\lambda \left(p(x)\left[\frac{\partial}{\partial x}\right]_q\right)^2}$$

therefore, we can find its general solution as

$$Q(x,\lambda)e_q^{-\lambda\left(p(x)\left[\frac{\partial}{\partial x}\right]_q\right)^2} = C$$

where C in any constant and using the given initial condition, we get

$$Q(x,0) = g(x) = C,$$

finally, we obtain the solution of the Heat equation (2.6) as

(2.7)
$$Q(x,\lambda) = e_q^{\lambda \left(p(x)\left[\frac{\partial}{\partial x}\right]_q\right)^2} g(x).$$

using q-analogue of the identity [20], we have

$$e_q^{b^2} = \frac{1}{\sqrt{\pi}} \int_{-\infty}^{+\infty} e_q^{-\xi^2 + 2b\xi} d_q \xi,$$

replacing b^2 with $\lambda\left(p(x)\left[\frac{\partial}{\partial x}\right]_q\right)^2,$ we have

(2.8)
$$e_q^{\lambda\left(p(x)\left[\frac{\partial}{\partial x}\right]_q\right)^2} = \frac{1}{\sqrt{\pi}} \int_{-\infty}^{+\infty} e_q^{-\xi^2 \oplus 2\sqrt{\lambda}\xi} d_q\xi,$$

with the use of the eq. (1.5), finally yields the solution of eq (2.6) in the form of an integral transform, which can be viewed as a generalized Gauss transform

$$e_q^{\lambda\left(p(x)\left[\frac{\partial}{\partial x}\right]_q\right)^2}g(x) = \frac{1}{\sqrt{\pi}}\int_{-\infty}^{+\infty}e_q^{-\xi^2}g(\varphi(2\xi\sqrt{\lambda}\oplus\varphi^{-1}(x)))d_q\xi.$$

or, in other words, we have

(2.9)
$$Q(x,\lambda) = \frac{1}{\sqrt{\pi}} \int_{-\infty}^{+\infty} e_q^{-\xi^2} g(\varphi(2\xi\sqrt{\lambda}\oplus\varphi^{-1}(x))) d_q\xi.$$

It is evident that the formalism associated with generalized exponential operators can be exploited in many flexible ways in finding the general solution of a large number of problems.

Before discussing the problem in its generality, let us recall the q-analogue of the Euler formula (see [8], [11])

(2.10)
$$\cos_q x + i \sin_q x = e_q^{ix}$$
 and $\cos_q x - i \sin_q x = e_q^{-ix}$,

Now consider the problem of the following type

(2.11)
$$\sum_{\alpha=0}^{N} b_{\alpha} f(x \cos_q(\alpha) \oplus \sqrt{1-x^2} \sin_q(\alpha)) = 0,$$

which belongs to the families of generalized q-difference equation. This equation can be obtained by the action of the q-exponential operator on the function f(x) and application of eqs. (1.3) and (2.10), we have

$$\sum_{\alpha=0}^{N} b_{\alpha} f(\sin_q(\sin_q^{-1}x)\cos_q(\alpha) \oplus \cos_q(\cos_q^{-1}\sqrt{1-x^2})\sin_q(\alpha)) = 0,$$
$$\sum_{\alpha=0}^{N} b_{\alpha} f(\sin_q(\sin_q^{-1}x)\cos_q(\alpha) \oplus \cos_q(\sin_q^{-1}x)\sin_q(\alpha)) = 0,$$
$$\sum_{\alpha=0}^{N} b_{\alpha} f(\sin_q(\sin_q^{-1}x \oplus \alpha)) = 0,$$
$$\sum_{\alpha=0}^{N} b_{\alpha} e_q^{\alpha\sqrt{1-x^2}\left[\frac{d}{dx}\right]_q} f(x) = 0.$$

According to the discussion of the previous section, the use of the q-exponential operator

$$\sum_{\alpha=0}^{N} b_{\alpha} \widehat{E_q}^{\alpha} f(x) = 0,$$

where

(2.12)
$$\widehat{E}_q = e_q^{\sqrt{1-x^2} \left[\frac{d}{dx}\right]_q}$$

allows to cast (2.11) in the operator form

(2.13)
$$\Psi(\widehat{E_q})f(x) = 0$$
, where $\Psi(\widehat{E_q}) = \sum_{\alpha=0}^{N} b_{\alpha}\widehat{E_q}^{\alpha}$.

In this case the SF $\varphi^{-1}(x)$ is associated with (2.12) is

(2.14)
$$\varphi^{-1}(x) = \sin_q^{-1} x.$$

Independent solutions of (2.11) can be constructed in terms of the function $R^{\sin_q^{-1}(x)}$, which satisfies the identity

(2.15)
$$\widehat{E_q}^{\alpha} R^{\sin_q^{-1}(x)} = R^{\alpha} R^{\sin_q^{-1}(x)},$$

the general solution of (2.11) can finally be written as

(2.16)
$$f(x) = \sum_{\alpha=0}^{N} c_{\alpha} R_{\alpha}^{\sin_{q}^{-1}(x)}.$$

Similarly, consider the following example, we have

(2.11')
$$\sum_{\alpha=0}^{N} b_{\alpha} f(x \cos_q(\alpha) \ominus \sqrt{1-x^2} \sin_q(\alpha)) = 0,$$

which also belongs to the families of generalized q-difference equation.

(2.12')
$$\widehat{E}_q = e_q^{-\sqrt{1-x^2} \left[\frac{d}{dx}\right]_q}$$

allows to cast (2.11') in the operator form (2.13). In this case the SF associated with (2.12') is

(2.14')
$$\varphi^{-1}(x) = \cos_q^{-1} x.$$

Independent solutions of (2.11') can be therefore constructed in terms of the function $R^{\cos^{-1}(x)}$, which satisfies the identity

(2.15')
$$\widehat{E_q}^{\alpha} R^{\cos_q^{-1}(x)} = R^{\alpha} R^{\cos_q^{-1}(x)}.$$

The general solution of (2.11') can finally be written as

(2.16')
$$f(x) = \sum_{\alpha=0}^{N} c_{\alpha} R_{\alpha}^{\cos_{q}^{-1}(x)}.$$

Where R_{α} are the roots of the characteristic equation

$$\Psi(R) = 0.$$

From the above discussion it is now clear that, whenever one deals with equations of the type

(2.18)
$$\sum_{\alpha=0}^{N} b_{\alpha} f(\varphi(\alpha \oplus \varphi^{-1}(x))) = 0,$$

one can associate it with the generalized exponential operator

(2.19)
$$\widehat{E_q}^{\alpha} = e_q^{\alpha p(x) \left[\frac{d}{dx}\right]_q}$$

which allows to cast (2.18) in the operator form (2.13) and we get the relevant solution in the form

(2.20)
$$f(x) = \sum_{\alpha=0}^{N} c_{\alpha} R_{\alpha}^{\int^{x} \frac{d\xi}{p(\xi)}}.$$

Moreover, let us consider another interesting example, we have

(2.21)
$$\sum_{\alpha=0}^{N} b_{\alpha} f\left(\frac{x}{1-\alpha x}\right) = 0,$$

by making use of the shift operator $e_q^{\frac{x^2}{q}\left[\frac{d}{dx}\right]_q}$, which allows to cast (2.21) in the operator form (2.13) i.e.

$$\sum_{\alpha=0}^{N} b_{\alpha} f\left(-\frac{1}{\alpha-\frac{1}{x}}\right) = 0,$$
$$\sum_{\alpha=0}^{N} b_{\alpha} e_{q}^{\alpha\frac{x^{2}}{q}\left[\frac{d}{dx}\right]_{q}} f(x) = 0, \quad \text{or} \quad \sum_{\alpha=0}^{N} b_{\alpha} \widehat{E_{q}}^{\alpha} f(x) = 0,$$

where $\widehat{E_q} = e_q^{\frac{x^2}{q} \left[\frac{d}{dx}\right]_q}$, $\Psi(\widehat{E_q})f(x) = 0$ and $\Psi(E_q) = \sum_{\alpha=0}^N b_\alpha \widehat{E_q}^{\alpha}$. In this case the SF associated with (2.11) is $\varphi^{-1}(x) = -\frac{1}{x}$, Its solution can thus be written as

(2.22)
$$f(x) = \sum_{\alpha=1}^{N} c_{\alpha} R_{\alpha}^{-\frac{1}{x}}.$$

The validity of the above solutions is limited to the case in which R_{α} is not a multiple root of the characteristic equation; this point will be discussed in the concluding section.

In the tunes of Dattoli et al. ([2]; p.656(26)), let us introduce the following q-analogue of the operational identities:

(2.23)
$$\begin{cases} \widehat{E_q}^{\pm \alpha} b^{\int^x \frac{dq\,\xi}{p(\xi)}} = b^{\pm \alpha} b^{\int^x \frac{dq\,\xi}{p(\xi)}}, \\ \widehat{E_q}^{\pm \alpha} (b^{\int^x \frac{dq\,\xi}{p(\xi)}} \phi(x)) = b^{\int^x \frac{dq\,\xi}{p(\xi)}} (b\widehat{E_q})^{\pm \alpha} \phi(x) \end{cases}$$

valid for exponential operators of the form (2.19).

We note that according to the first of (2.23) the non-homogeneous equation

(2.24)
$$\Psi(\widehat{E}_q)f(x) = Cb^{\int^x \frac{dq\xi}{p(\xi)}}$$

where C is a constant and b is not a root of the characteristic equation, admits the particular solution

(2.25)
$$f(x) = \frac{Cb^{\int x} \frac{a_q \xi}{p(\xi)}}{\Psi(b)}.$$

In the slightly more complicated case

(2.26)
$$\Psi(\widehat{E}_q)f(x) = Cb^{\int x} \frac{dq\xi}{p(\xi)}\phi(x),$$

the second of (2.23) yields

(2.27)
$$f(x) = Cb^{\int^x \frac{dq\xi}{p(\xi)}} \frac{1}{\Psi(b\widehat{E}_q)} \phi(x).$$

Further comments shall be discussed in the concluding section.

3. q-Anologue of Generalized Shift Operators and Jackson Derivatives

The linear equations involving discrete power of the q-exponential operators have been considered in the previous section. Here the examples are discussed in which the arbitrary exponents are taken. The introductory example is

(3.1)
$$\frac{f(e_q^{\lambda}x) - f(x)}{\lambda} = g(x),$$

The use of the dilatation operator allows to cast eq. (2.27) in the form of a the Jackson derivative [9], namely

(3.2)
$$\frac{e_q^{\lambda h \left[\frac{d}{dx}\right]_q} - 1}{\lambda} f(x) = g(x)$$

where $h = \frac{q-1}{\ln q}$, f(x) is unknown, $\lambda \in C$, and g(x) is an analytical function. The operator on the left hand side can formally be inverted and by writing the differentiation variable in terms of the inverse of the SF we find

(3.3)
$$f(e_q^{\xi}) = \frac{\lambda}{e_q^{\lambda h\left[\frac{d}{d\xi}\right]_q} - 1} g(e_q^{\xi}).$$

The operator on the right hand side of (3.3) can be expanded as

$$\frac{\lambda}{e_q^{\lambda h\left[\frac{d}{d\xi}\right]_q} - 1} = \frac{\lambda}{\lambda h\left[\frac{d}{d\xi}\right]_q + \frac{1}{[2]_q!} \left(\lambda h\left[\frac{d}{d\xi}\right]_q\right)^2 + \frac{1}{[3]_q!} \left(\lambda h\left[\frac{d}{d\xi}\right]_q\right)^3 + \cdots}$$

$$= \frac{1}{h\left[\frac{d}{d\xi}\right]_{q}\left[1 + \frac{1}{[2]_{q}!}\left(\lambda h\left[\frac{d}{d\xi}\right]_{q}\right) + \frac{1}{[3]_{q}!}\left(\lambda h\left[\frac{d}{d\xi}\right]_{q}\right)^{2} + \cdots\right]}$$

$$= \frac{1}{h\left[\frac{d}{d\xi}\right]_{q}}\left[1 + \left(\frac{1}{[2]_{q}!}\lambda h\left[\frac{d}{d\xi}\right]_{q} + \frac{1}{[3]_{q}!}\left(\lambda h\left[\frac{d}{d\xi}\right]_{q}\right)^{2} + \cdots\right)\right]^{-1}$$

$$= \frac{1}{h\left[\frac{d}{d\xi}\right]_{q}}\left[1 - \left(\frac{1}{[2]_{q}!}\lambda h\left[\frac{d}{d\xi}\right]_{q} + \frac{1}{[3]_{q}!}\left(\lambda h\left[\frac{d}{d\xi}\right]_{q}\right)^{2} + \cdots\right)\right]$$

$$+ \left(\frac{1}{[2]_{q}!}\lambda h\left[\frac{d}{d\xi}\right]_{q} + \frac{1}{[3]_{q}!}\left(\lambda h\left[\frac{d}{d\xi}\right]_{q}\right)^{2} + \cdots\right)^{2} + \cdots\right]$$

$$= \frac{1}{h\left[\frac{d}{d\xi}\right]_{q}}\left[1 - \frac{1}{[2]_{q}}\lambda h\left[\frac{d}{d\xi}\right]_{q} + \left(\frac{1}{([2]_{q}!)^{2}} - \frac{1}{[3]_{q}!}\right)\left(\lambda h\left[\frac{d}{d\xi}\right]_{q}\right)^{2}$$

$$- \left(\frac{1}{[4]_{q}!} - \frac{[2]_{q}}{([2]_{q}]^{2}[3]_{q}} + \frac{1}{([2]_{q}!)^{3}}\right)\left(\lambda h\left[\frac{d}{d\xi}\right]_{q}\right)^{3} + \cdots\right]$$

$$= \frac{1}{h\left[\frac{d}{d\xi}\right]_{q}}\left[1 - \frac{1}{[2]_{q}}\lambda h\left[\frac{d}{d\xi}\right]_{q} + \frac{q^{2}}{[2]_{q}[3]_{q}!}\left(\lambda h\left[\frac{d}{d\xi}\right]_{q}\right)^{2}$$

$$- \frac{q^{3}(q-1)}{[2]_{q}[3]_{q}![4]_{q}}\left(\lambda h\left[\frac{d}{d\xi}\right]_{q}\right)^{3} + \cdots\right]$$

$$= \frac{1}{h\left[\frac{d}{d\xi}\right]_{q}}\left[B_{0,q} + \frac{B_{1,q}}{[1]_{q}!}\lambda h\left[\frac{d}{d\xi}\right]_{q} + \frac{B_{2,q}}{[2]_{q}!}\left(\lambda h\left[\frac{d}{d\xi}\right]_{q}\right)^{2} + \cdots\right]$$

 \mathbf{or}

(3.4)
$$\frac{\lambda}{e_q^{\lambda h\left[\frac{d}{d\xi}\right]_q} - 1} = \frac{1}{h\left[\frac{d}{d\xi}\right]_q} \sum_{n=0}^{\infty} \frac{B_{n,q}}{[n]_q!} \left(\lambda h\right)^n \left[\frac{d}{d\xi}\right]_q^n,$$

where

(3.5)
$$B_{0,q} = 1, B_{1,q} = -\frac{1}{[2]_q}, B_{2,q} = \frac{q^2}{[3]_q!}, B_{3,q} = -\frac{q^3(q-1)}{[2]_q[4]_q}, \cdots$$

are Nalli-Ward-Alsalam(NWA) q-Bernoulli numbers (see [5]; p. 27 eqs. (146), (148)) and $\left[\frac{d}{d\xi}\right]_q^{-1}$ is the q-antiderivative of the q-derivative operator with respect to ξ .

Since g(x) has a q-Taylor expansion $(g(x) = \sum_{m=0}^{\infty} b_m x^m)$, we get from (3.3) and (3.4)

$$\begin{split} & f(e_q^{\xi}) \\ &= \frac{1}{h\left[\frac{d}{d\xi}\right]_q} \sum_{n=0}^{\infty} \frac{B_{n,q}}{[n]_q!} (\lambda h)^n \left[\frac{d}{d\xi}\right]_q^n \left(\sum_{m=0}^{\infty} b_m e_q^{m\xi}\right) \\ &= \frac{1}{h\left[\frac{d}{d\xi}\right]_q} \left[B_{0,q} + \frac{B_{1,q}}{[1]_q!} \lambda h\left[\frac{d}{d\xi}\right]_q + \frac{B_{2,q}}{[2]_q!} \left(\lambda h\left[\frac{d}{d\xi}\right]_q\right)^2 \\ &\quad + \frac{B_{3,q}}{[3]_q!} \left(\lambda h\left[\frac{d}{d\xi}\right]_q\right)^3 + \cdots \right] \sum_{m=0}^{\infty} b_m e_q^{m\xi} \\ &= \frac{1}{h\left[\frac{d}{d\xi}\right]_q} \left[1 - \frac{1}{[2]_q} \lambda h\left[\frac{d}{d\xi}\right]_q + \frac{q^2}{[2]_q![3]_q!} \left(\lambda h\left[\frac{d}{d\xi}\right]_q\right)^2 \\ &\quad - \frac{q^3(q-1)}{[2]_q[3]_q![4]_q} \left(\lambda h\left[\frac{d}{d\xi}\right]_q\right)^3 + \cdots \right] \sum_{m=0}^{\infty} b_m e_q^{m\xi} \\ &= \frac{1}{h\left[\frac{d}{d\xi}\right]_q} \left[b_0 + \sum_{m=1}^{\infty} b_m e_q^{m\xi} - \frac{1}{[2]_q} \lambda h \sum_{m=0}^{\infty} b_m e_q^{m\xi} \\ &\quad + \frac{q^2}{[2]_q![3]_q!} (\lambda h)^2 \sum_{m=0}^{\infty} b_m [m]_q^2 e_q^{m\xi} - \frac{q^3(q-1)}{[2]_q[3]_q![4]_q} (\lambda h)^3 \sum_{m=0}^{\infty} b_m [m]_q^3 e_q^{m\xi} + \cdots \right] \\ &= \frac{1}{h} \left[b_0\xi + \sum_{m=1}^{\infty} \frac{b_m}{[m]_q} e_q^{m\xi} - \frac{1}{[2]_q} \lambda h \sum_{m=0}^{\infty} b_m e_m^{m\xi} \\ &\quad + \frac{q^2}{[2]_q![3]_q!} (\lambda h)^2 \sum_{m=0}^{\infty} b_m [m]_q^2 e_q^{m\xi} - \frac{q^3(q-1)}{[2]_q[3]_q![4]_q} (\lambda h)^3 \sum_{m=0}^{\infty} b_m [m]_q^2 e_q^{m\xi} + \cdots \right] \\ &= \frac{b_0\xi}{h} + b_1 e_q^{\xi} \frac{1}{h} \left[1 + \left(\frac{\lambda h}{[2]_q!} + \frac{(\lambda h)^2}{[3]_q!} + \cdots\right)\right]^{-1} + \cdots \\ &= \frac{b_0\xi}{h} + \frac{\lambda b_1 e_q^{\xi}}{h(1 + \frac{\lambda h}{[2]_q!} + \frac{(\lambda h)^2}{[3]_q!} + \cdots} + \frac{b_2 e_q^{2\xi}}{[2]_q \lambda h)^2} + \cdots \right] \\ &= \frac{b_0\xi}{h} + \frac{\lambda b_1 e_q^{\xi}}{\frac{\lambda h}{[1_q!} + \frac{(\lambda h)^2}{(3]_q!} + \frac{\lambda h}{[3]_q!} + \cdots} + \frac{b_2 e_q^{2\xi}}{[2]_q \lambda h)^2} + \cdots \right] \\ &= \frac{b_0\xi}{h} + \frac{\lambda b_1 e_q^{\xi}}{\frac{\lambda h}{[1_q!} + \frac{(\lambda h)^2}{(3]_q!} + \frac{\lambda b_2 e_q^{2\xi}}{(3]_q!} + \cdots} + \frac{b_2 e_q^{2\xi}}{[3]_q!} + \frac{\lambda b}{[3]_q!} + \cdots} \\ &= \frac{b_0\xi}{h} + \frac{\lambda b_1 e_q^{\xi}}{\frac{\lambda h}{[1_q!} + \frac{\lambda b}{(3]_q!} + \frac{\lambda b}{(3]_q!} + \frac{\lambda b}{(3]_q!} + \cdots} + \frac{b_2 e_q^{2\xi}}{[3]_q!} + \frac{\lambda b}{[3]_q!} + \cdots} \\ &= \frac{b_0\xi}{h} + \frac{\lambda b_1 e_q^{\xi}}{\frac{e_q!^{1}h(h-1)}}{\frac{e_q!^{1}h(h-1)}}{\frac{e_q!^{2}h(h-1)}}{\frac{e_q!^{2}h(h-1)}}{\frac{e_q!^{2}h(h-1)}}{\frac{e_q!^{2}h(h-1)}}{\frac{e_q!^{2}h(h-1)}}{\frac{e_q!^{2}h(h-1)}}{\frac{e_q!^{2}h(h-1)}}{\frac{e_q!^{2}h(h-1)}}{\frac{e_q!^{2}h(h-1)}}{\frac{e_q!^{2}h(h-1)}}{\frac{e_q!^{2}h(h-1)}{\frac{e_q!^{2}h(h-1)}}{\frac{e_q!^{2}h(h-1)}}{\frac{e_q!^{2}h(h-1)}}{\frac{e_q!^{2}h(h-1)}$$

Mohammad Asif

or

(3.6)
$$f(e_q^{\xi}) = \sum_{m=1}^{\infty} b_m \frac{\lambda e_q^{m\xi}}{e_q^{\lambda h[m]_q} - 1} + \frac{b_0 \xi}{h},$$

going back to the original variable, we get

(3.7)
$$f(x) = \sum_{m=1}^{\infty} b_m \frac{\lambda x^m}{e_q^{\lambda h[m]_q} - 1} + \frac{b_0 \ln_q(x)}{h}.$$

The right hand side of eq. (3.6) provides the solution of our problem. Take another example $g(x) = \sin_q(x) = \sum_{m=0}^{\infty} \frac{(-1)^m x^{2m+1}}{[2m+1]_q!}$, we find

$$\begin{split} f(e_q^{\ell}) \\ &= \frac{1}{h \left[\frac{d}{d\xi}\right]_q} \sum_{n=0}^{\infty} \frac{B_{n,q}(\lambda h)^n}{[n]_q!} \left[\frac{d}{d\xi}\right]_q^n \sum_{m=0}^{\infty} \frac{(-1)^m e_q^{(2m+1)\xi}}{[2m+1]_q!} \\ &= \frac{1}{h \left[\frac{d}{d\xi}\right]_q} \left[B_{0,q} + \frac{B_{1,q}}{[1]_q!} \lambda h \left[\frac{d}{d\xi}\right]_q + \frac{B_{2,q}}{[2]_q!} \left(\lambda h \left[\frac{d}{d\xi}\right]_q\right)^2 + \cdots\right] \sum_{m=0}^{\infty} \frac{(-1)^m e_q^{(2m+1)\xi}}{[2m+1]_q!} \\ &= \frac{1}{h \left[\frac{d}{d\xi}\right]_q} \left[1 - \frac{1}{[2]_q} \lambda \left[\frac{d}{d\xi}\right]_q + \frac{q^2}{[2]_q[3]_q!} \left(\lambda \left[\frac{d}{d\xi}\right]_q\right)^2 - \cdots\right] \sum_{m=0}^{\infty} \frac{(-1)^m e_q^{(2m+1)\xi}}{[2m+1]_q!} \\ &= \frac{1}{h} \sum_{m=0}^{\infty} \frac{(-1)^m}{[2m+1]_q[2m+1]_q!} e_q^{(2m+1)\xi} - \frac{1}{h[2]_q} \lambda \sum_{m=0}^{\infty} \frac{(-1)^m}{[2m+1]_q!} e_q^{(2m+1)\xi} \\ &+ \frac{q^2}{[2]_q[3]_q!} \frac{1}{h} \lambda^2 \sum_{m=0}^{\infty} \frac{(-1)^m [2m+1]_q}{[2m+1]_q!} e_q^{(2m+1)\xi} \\ &- \frac{q^3(q-1)}{[2]_q[4]_q]_{3q}!} \frac{1}{h} \lambda^3 \sum_{m=0}^{\infty} \frac{(-1)^m [2m+1]_q}{[2m+1]_q!} e_q^{(2m+1)\xi} \\ &= \sum_{m=0}^{\infty} \frac{(-1)^m e_q^{(2m+1)\xi}}{h[2m+1]_q[2m+1]_q!} \left[1 - \frac{\lambda [2m+1]_q}{[2]_q!} + \left(\frac{1}{([2]_q!)^2} - \frac{1}{[3]_q!}\right) \lambda^2 [2m+1]_q^2 \\ &- \left(\frac{1}{[4]_q!} - \frac{[2]_q}{([2]_q]^2[3]_q} + \frac{1}{([2]_q!)^3}\right) \lambda^3 [2m+1]_q^3 + \cdots\right] \\ &= \sum_{m=0}^{\infty} \frac{(-1)^m e_q^{(2m+1)\xi}}{h[2m+1]_q[2m+1]_q!} \left[1 + \frac{\lambda [2m+1]_q}{[2]_q!} + \frac{\lambda^2 [2m+1]_q^2}{[3]_q!} + \cdots\right]^{-1} \\ \text{or} \qquad f(e_q^{\xi}) = \sum \frac{\lambda}{e_q^{\lambda h[2m+1]_q} - 1} \frac{(-1)^m}{[2m+1]_q!} e_q^{(2m+1)\xi} \end{split}$$

or

(3.8)
$$f(x) = \sum \frac{\lambda}{e_q^{\lambda h[2m+1]_q} - 1} \frac{(-1)^m}{[2m+1]_q!} x^{2m+1}.$$

This is essentially the series defining g(x), provided that b_m is replaced by $\frac{b_m\lambda}{e_q^{\lambda h[m]_q}-1}$. If, e.g., we take $g(x) = \cos_q(x)$, we find

(3.8')
$$f(x) = \sum \frac{\lambda}{e_q^{\lambda h[2m]_q} - 1} \frac{(-1)^m}{[2m]_q!} x^{2m},$$

and for $g(x) = e_q^{x^p}$, we get

(3.9)
$$f(x) = \sum_{m=1}^{\infty} \frac{\lambda}{e_q^{\lambda h[pm]_q} - 1} \frac{x^{pm}}{[m]_q!} + \frac{\ln_q(x)}{h}.$$

We, therefore, conclude that the primitive of the Jackson derivative can be constructed according to the above mentioned results.

This method can also be generalized and the concept of Jackson derivative extended to other forms of exponential operators. In this case we consider equation of the type

(3.10)
$$\frac{f(x)\cos_q(\lambda) \oplus \sqrt{1-x^2}\sin_q(\lambda)}{\lambda} = g(x),$$

with the assistance of eq. (2.12), we write the eq. (3.10) as follows

$$\frac{e_q^{\lambda\sqrt{1-x^2}\left[\frac{d}{dx}\right]_q}f(x) - f(x)}{\lambda} = g(x)$$

or

(3.11)
$$\frac{e_q^{\lambda\sqrt{1-x^2}\left[\frac{d}{dx}\right]_q}-1}{\lambda}f(x) = g(x),$$

by assuming g(x) is an odd function there taking $x = \sin_q \xi$, we have

$$\begin{bmatrix} \frac{d}{d\xi} \end{bmatrix}_q = \begin{bmatrix} \frac{d}{dx} \end{bmatrix}_q \begin{bmatrix} \frac{dx}{d\xi} \end{bmatrix}_q = \cos_q \xi \begin{bmatrix} \frac{d}{dx} \end{bmatrix}_q$$
$$\frac{e_q^{\lambda \begin{bmatrix} \frac{d}{d\xi} \end{bmatrix}_q} - 1}{\lambda} f(\sin_q \xi) = g(\sin_q \xi),$$

 or

(3.12)
$$f(\sin_q \xi) = \frac{\lambda}{e_q^{\lambda \left[\frac{d}{d\xi}\right]_q} - 1} g(\sin_q \xi),$$

let us find out the expansion of the first factor of the right hand side of the eq. (3.12) with the help of the eq. (3.4), we have

(3.13)
$$f(\sin_q \xi) = \left[\frac{d}{d\xi}\right]_q^{-1} \sum_{n=0}^\infty \frac{B_{n,q}}{[n]_q!} \lambda^n \left[\frac{d}{d\xi}\right]_q^n g(\sin_q \xi),$$

since g(x) in an odd and analytic function, then $g(\sin_q \xi)$ can be expanded by q-Taylor expansion such as $g(\sin_q \xi) = \sum_{m=0}^{\infty} b_{2m+1}(\sin_q \xi)^{2m+1}$, we have from (3.13)

$$\begin{split} f(\sin_q \xi) \\ &= \left[\frac{d}{d\xi}\right]_q^{-1} \sum_{n=0}^{\infty} \frac{B_{n,q}}{[n]_q!} \lambda^n \left[\frac{d}{d\xi}\right]_q^n \sum_{m=0}^{\infty} b_{2m+1} (\sin_q \xi)^{2m+1} \\ &= \left[\frac{d}{d\xi}\right]_q^{-1} \sum_{n=0}^{\infty} \frac{B_{n,q}}{[n]_q!} \lambda^n \left[\frac{d}{d\xi}\right]_q^n \sum_{m=0}^{\infty} b_{2m+1} \left[\frac{e_q^{i\xi} - e_q^{-i\xi}}{2i}\right]^{2m+1} \\ &= \left[\frac{d}{d\xi}\right]_q^{-1} \sum_{n=0}^{\infty} \frac{B_{n,q}}{[n]_q!} \lambda^n \left[\frac{d}{d\xi}\right]_q^n \sum_{m=0}^{\infty} \frac{b_{2m+1}(-i)^{2m+1}}{2^{2m+1}} (-e_q^{-i\xi})^{2m+1} [1 - e_q^{2i\xi}]^{2m+1} \\ &= \left[\frac{d}{d\xi}\right]_q^{-1} \left[B_{0,q} + \frac{B_{1,q}\lambda}{[1]_q!} \left[\frac{d}{d\xi}\right]_q + \frac{B_{2,q}\lambda^2}{[2]_q!} \left[\frac{d}{d\xi}\right]_q^2 + \frac{B_{3,q}\lambda^3}{[3]_q!} \left[\frac{d}{d\xi}\right]_q^3 \cdots \right] \\ &\quad \cdot \sum_{m=0}^{\infty} \frac{b_{2m+1}(-i)^{2m+1}}{2^{2m+1}} (-e_q^{-i\xi})^{2m+1} \sum_{s=0}^{2m+1} \left(\frac{2m+1}{s}\right)_q (-1)^{2m+1-s} e_q^{[2(2m+1-s)]i\xi} \end{split}$$

substituting the values of Bernoulli's numbers from eq. (3.5), we have

$$(3.14) \quad f(\sin_q \xi) = \left[\frac{d}{d\xi} \right]_q^{-1} \left[1 - \frac{\lambda}{[2]_q} \left[\frac{d}{d\xi} \right]_q^{-1} + \frac{q^2 \lambda^2}{[2]_q [3]_q !} \left[\frac{d}{d\xi} \right]_q^2 - \frac{q^3 (q-1) \lambda^3}{[2]_q [4]_q [3]_q !} \left[\frac{d}{d\xi} \right]_q^3 \cdots \right] \right] \\ \cdot \sum_{m=1}^{\infty} \frac{b_{2m+1} (-i)^{2m+1}}{2^{2m+1}} \sum_{s=0}^{2m+1} \left(2m+1 \atop s \right)_q (-1)^s e_q^{i[2(m-s)+1]\xi} \\ = \sum_{m=1}^{\infty} \frac{b_{2m+1} (-i)^{2m+1}}{2^{2m+1}} \left[\frac{d}{d\xi} \right]_q^{-1} \left[\sum_{s=0}^{2m+1} \left(2m+1 \atop s \right)_q (-1)^s e_q^{i[2(m-s)+1]\xi} \right] \\ - \frac{\lambda}{[2]_q} \left[\frac{d}{d\xi} \right]_q \cdot \sum_{s=0}^{2m+1} \left(2m+1 \atop s \right)_q (-1)^s e_q^{i[2(m-s)+1]\xi} \\ + \frac{q^2 \lambda^2}{[2]_q [3]_q !} \left[\frac{d}{d\xi} \right]_q^2 \sum_{s=0}^{2m+1} \left(2m+1 \atop s \right)_q \\ (-1)^s e_q^{i[2(m-s)+1]\xi} - \cdots \right]$$

q-Analogue of Exponential Operators and Difference Equations

$$\begin{split} &= \sum_{m=1}^{\infty} \frac{b_{2m+1}(-i)^{2m+1}}{2^{2m+1}} \left[\frac{d}{d\xi} \right]_{q}^{-1} \left[\sum_{s=0}^{2m+1} \left(\frac{2m+1}{s} \right)_{q} (-1)^{s} e_{q}^{i[2(m-s)+1]\xi} \\ &\quad - \frac{\lambda}{[2]_{q}} \sum_{s=0}^{2m+1} \left(\frac{2m+1}{s} \right)_{q} (-1)^{s} \{i[2(m-s)+1]_{q}\} e_{q}^{i[2(m-s)+1]\xi} \\ &\quad + \frac{q^{2}\lambda^{2}}{[2]_{q}[3]_{q}!} \sum_{s=0}^{2m+1} \left(\frac{2m+1}{s} \right)_{q} (-1)^{s} \{i[2(m-s)+1]_{q}\}^{2} e_{q}^{i[2(m-s)+1]\xi} - \cdots \right] \\ &= \sum_{m=1}^{\infty} \frac{b_{2m+1}(-i)^{2m+1}}{2^{2m+1}} \left[\sum_{s=0}^{2m+1} \left(\frac{2m+1}{s} \right)_{q} \frac{(-1)^{s} e_{q}^{i[2(m-s)+1]\xi}}{i[2(m-s)+1]_{q}} \\ &\quad - \frac{\lambda}{[2]_{q}} \sum_{s=0}^{2m+1} \left(\frac{2m+1}{s} \right)_{q} (-1)^{s} e_{q}^{i[2(m-s)+1]\xi} \\ &\quad + \frac{q^{2}\lambda^{2}}{[2]_{q}[3]_{q}!} \sum_{s=0}^{2m+1} \left(\frac{2m+1}{s} \right)_{q} (-1)^{s} e_{q}^{i[2(m-s)+1]\xi} \\ &\quad + \frac{q^{2}\lambda^{2}}{[2]_{q}[3]_{q}!} \sum_{s=0}^{2m+1} \left(\frac{2m+1}{s} \right)_{q} (-1)^{s} \{i[2(m-s)+1]_{q}\} e_{q}^{i[2(m-s)+1]\xi} - \cdots \right] \\ &= \sum_{m=1}^{\infty} \frac{b_{2m+1}(-i)^{2m+1}}{2^{2m+1}} \left[\sum_{s=0}^{2m+1} \left(\frac{2m+1}{s} \right)_{q} \frac{(-1)^{s} e_{q}^{i[2(m-s)+1]\xi}}{i[2(m-s)+1]_{q}} \\ &\quad \left\{ 1 - \frac{\lambda}{[2]_{q}} i[2(m-s)+1]_{q} + \left(\frac{1}{([2]_{q})^{2}} - \frac{1}{[3]_{q}!} \right) \lambda^{2} \{i[2(m-s)+1]_{q} \}^{3} + \cdots \right\} \right] \right] \\ &= \sum_{m=1}^{\infty} \frac{b_{2m+1}(-i)^{2m+1}}{2^{2m+1}} \left[\sum_{s=0}^{2m+1} \left(\frac{2m+1}{s} \right)_{q} \\ &\quad \cdot \frac{(-1)^{s} e_{q}^{i[2(m-s)+1]\xi}}{i[2(m-s)+1]_{q}\lambda] + \frac{1}{[3]_{q}!} \{i[2(m-s)+1]_{q}\lambda]^{2} + \cdots \right\} \right] \\ &= \sum_{m=1}^{\infty} \frac{b_{2m+1}(-i)^{2m+1}}{2^{2m+1}} \left[\sum_{s=0}^{2m+1} \left(\frac{2m+1}{s} \right)_{q} \\ &\quad \cdot \frac{(-1)^{s} \lambda(e_{q}^{i}\lambda]^{2(m-s)+1}}{i[2(m-s)+1]_{q}\lambda] + \frac{1}{[3]_{q}!} \{i[2(m-s)+1]_{q}\lambda]^{3} + \cdots \right\} \right] \\ &= \sum_{m=1}^{\infty} \frac{b_{2m+1}(-i)^{2m+1}}{2^{2m+1}} \left[\sum_{s=0}^{2m+1} \left(\frac{2m+1}{s} \right)_{q} \frac{(-1)^{s} \lambda(\cos_{q}\xi + i\sin_{q}\xi)^{2(m-s)+1}}{e_{q}^{i}(i^{2(m-s)+1}]_{q}\lambda^{3} + \cdots \right] \\ &= \sum_{m=1}^{\infty} \frac{b_{2m+1}(-i)^{2m+1}}{2^{2m+1}}} \left[\sum_{s=0}^{2m+1} \left(\frac{2m+1}{s} \right)_{q} \frac{(-1)^{s} \lambda(\cos_{q}\xi + i\sin_{q}\xi)^{2(m-s)+1}}{e_{q}^{i}(i^{2(m-s)+1}]_{q}\lambda^{3} + \cdots \right] \\ &= \sum_{m=1}^{\infty} \frac{b_{2m+1}(-i)^{2m+1}}{2^{2m+1}} \left[\sum_{s=0}^{2m+1} \left(\frac{2m+1}{s} \right)_{q} \frac{(-1)^{s} \lambda(\cos_{q}\xi + i\sin_{q}\xi)^{2(m-s)+1}}{e_{q}^{i}(i^{2(m-s)+1}]_{q}\lambda^{3} + \cdots \right] \\ &= \sum_{m=1}^{\infty} \frac{b_$$

or

$$f(\sin_q \xi) = \sum_{m=1}^{\infty} \frac{b_{2m+1}\lambda}{2^{2m+1}} (-i)^{2m+1}$$
$$\cdot \left[\sum_{s=0}^{2m+1} \binom{2m+1}{s}_q \frac{(-1)^s (\sqrt{1-\sin_q \xi^2} + i \sin_q \xi)^{2(m-s)+1}}{e_q^{i[2(m-s)+1]_q \lambda} - 1} \right]$$

finally,

(3.15)
$$f(x) = \sum_{m=1}^{\infty} \frac{b_{2m+1}\lambda}{2^{2m+1}} (-i)^{2m+1} \\ \cdot \left[\sum_{s=0}^{2m+1} \binom{2m+1}{s}_q \frac{(-1)^s (\sqrt{1-x^2}+ix)^{2(m-s)+1}}{e_q^{i[2(m-s)+1]_q\lambda}-1} \right]$$

It is interesting to note that, in this case too, the criterion to evaluate the primitive of the Jackson derivative, associated with the operator (2.12), can easily be inferred.

Let us note that the procedure we have discussed can also be extended to the cases involving the generalized Gauss transform. In fact the solution of

(3.16)
$$\frac{e_q^{\lambda\left(x\left[\frac{d}{dx}\right]_q\right)^2} - 1}{\lambda} f(x) = g(x)$$

or in other words, we have

(3.17)
$$\frac{\lambda}{e_q^{\lambda\left(x\left[\frac{d}{dx}\right]_q\right)^2} - 1}g(x) = f(x),$$

let us suppose $x = e_q^{\xi}$, then $\left[\frac{d}{d\xi}\right]_q = \left[\frac{d}{dx}\right]_q \left[\frac{dx}{d\xi}\right]_q = e_q^{\xi} \left[\frac{d}{dx}\right]_q = x \left[\frac{d}{dx}\right]_q$, now from eq. (3.17), we have

(3.18)
$$\frac{\lambda}{e_q^{\lambda\left[\frac{d}{dx}\right]_q^2} - 1} g(e_q^{\xi}) = f(e_q^{\xi}),$$

further, after following the steps as we followed in getting the result (3.4), we obtain the expansion of first factor of l.h.s. as

(3.19)
$$\frac{\lambda}{e_q^{\lambda\left[\frac{d}{dx}\right]_q^2} - 1} = \left[\frac{d}{d\xi}\right]_q^{-2} \sum_{n=0}^{\infty} \frac{B_{n,q}}{[n]_q!} \lambda^n \left[\frac{d}{d\xi}\right]_q^{2n},$$

now by the virtue of the analyticity of g(x), we expand g(x), by q-Taylor series, i.e.

$$f(e_q^{\xi}) = \left[\frac{d}{d\xi}\right]_q^{-2} \sum_{n=0}^{\infty} \frac{B_{n,q}}{[n]_q!} \lambda^n \left[\frac{d}{d\xi}\right]_q^{2n} \sum_{m=0}^{\infty} b_m e_q^{mx},$$

proceeding of the steps as proceeded in finding the result (3.7), we obtain

$$f(e_q^{\xi}) = \sum_{m=1}^{\infty} b_m \frac{\lambda}{e_q^{\lambda[m]_q^2} - 1} e_q^{m\xi} + b_0 \xi$$

or in other words, if we take $b_0 = 0$, then

(3.20)
$$f(x) = \sum_{m=1}^{\infty} b_m \frac{\lambda}{e_q^{\lambda[m]_q^2} - 1} x^m$$

Further comments on the results of this section will be discussed in the forthcoming concluding section.

4. The Remarks

In the previous section we have considered q-linear difference equations, a (trivial) non-linear example, q-analogue to Riccati equation, is given blow

(4.1)
$$f(xe_q) - f(x) + b^{\ln(x)} f(xe_q) f(x) = 0,$$

which can be solved using the auxiliary function $g(x) = \frac{1}{f(x)}$ and thus getting

$$\frac{1}{f(x)} - \frac{1}{f(xe_q)} + b^{\ln_q(x)} = 0,$$

 or

(4.2)
$$g(xe_q) - g(x) = b^{\ln_q(x)},$$

from the operator (1.5), we have

(4.3)
$$e_q^{hx\left[\frac{d}{dx}\right]_q}g(x) - g(x) = b^{\ln_q(x)},$$

or in other words we write the above eq. (4.3)as

$$g(x) = \frac{b^{\ln_q(x)}}{e_q^{hx\left[\frac{d}{dx}\right]_q} - 1}$$

= $-\left[1 - e_q^{hx\left[\frac{d}{dx}\right]}\right]^{-1} b^{\ln_q(x)}$
= $-\left[1 + e_q^{hx\left[\frac{d}{dx}\right]_q} + e_q^{2hx\left[\frac{d}{dx}\right]_q} + e_q^{3hx\left[\frac{d}{dx}\right]_q} + \cdots\right] b^{\ln_q(x)}$
= $-\left[b^{\ln_q(x)} + e_q^{hx\left[\frac{d}{dx}\right]_q} b^{\ln_q(x)} + e_q^{2hx\left[\frac{d}{dx}\right]_q} b^{\ln_q(x)} + e_q^{3hx\left[\frac{d}{dx}\right]_q} b^{\ln_q(x)} + \cdots\right]$

Mohammad Asif

$$= -\left[b^{\ln_q(x)} + bb^{\ln_q(x)} + b^2 b^{\ln_q(x)} + b^3 b^{\ln_q(x)} + \cdots \right]$$
$$= -\left[1 + b + b^2 + b^3 + \cdots\right] b^{\ln_q(x)} = \frac{b^{\ln_q(x)}}{b - 1}$$

thus finding as a particular solution

(4.4)
$$f(x) = \frac{1}{g(x)} = \frac{b-1}{b^{\ln_q(x)}}.$$

Moreover, in general, equations of the type

(4.5)
$$\sum_{\alpha=0}^{N} b_{\alpha} f(\varphi(\varphi^{-1}(x) \oplus \alpha)) = \epsilon [f(x)]^{n},$$

standard perturbation methods can be used. At the lowest order in $\epsilon(f\cong f_0+\epsilon f_1)$ we find

(4.6)
$$\sum_{\alpha=0}^{N} b_{\alpha} f_0(\varphi(\alpha \oplus \varphi^{-1}(x))) = 0$$

and

(4.7)
$$\sum_{\alpha=0}^{N} b_{\alpha} f_1(\varphi(\alpha \oplus \varphi^{-1}(x))) = R^{n \int^x \frac{d_q \xi}{p(\xi)}},$$

where R is one of the roots of the characteristic equation associated with (4.5). The first-order contribution f_1 can therefore be evaluated by using eq. (2.15), which should be modified as follows:

,

(4.8)
$$f(x) = \frac{C\left(\int^x \frac{d_q\xi}{p(\xi)}\right)b^{\int^x \frac{d_q\xi}{p(\xi)} - 1}}{\Psi'(b)}, \quad \Psi'(b) = \left[\left[\frac{d}{dR}\right]_q \Psi(R)\right]_{R=b}$$

if b is a simple root of the characteristic equation.

Let us now go back to the problem of treating $q\mbox{-exponential}$ operators of the type

(4.9)
$$\widehat{E}_{q,\lambda}^m = e_q^{\lambda \left(p(x) \left[\frac{d}{dx} \right]_q \right)^m}.$$

We have seen that for m = 2 and $\lambda > 0$ they can be viewed as generalized Gauss transform. Before discussing the problem more deeply, we recall the following important relation [2]:

(4.10)
$$\begin{cases} e_q^{\lambda \left[\frac{d}{dx}\right]_q^m} x^n = H_n^{(m)}(x,\lambda;q), \\ H_n^{(m)}(x,\lambda;q) = [n]_q! \sum_{r=0}^{\left[\frac{n}{m}\right]} \frac{\lambda^r x^{n-mr}}{[r]_q! [n-mr]_q!}. \end{cases}$$

Which holds for negative or positive λ and $H_n^{(m)}(x,\lambda;q)$ are q-analogue of Kampé de Feriét polynomials, and satisfy the identity

(4.11)
$$\left[\frac{\partial}{\partial\lambda}\right]_{q}H_{n}^{(m)}(x,\lambda;q) = \left[\frac{\partial}{\partial x}\right]_{q}^{m}H_{n}^{(m)}(x,\lambda;q).$$

According to eq. (4.8) we also find

(4.12)
$$e_q^{\lambda \left[\frac{d}{dx}\right]_q^m} g(x) = e_q^{\lambda \left[\frac{d}{dx}\right]_q^m} \sum_{n=0}^{\infty} b_n x^n = \sum_{n=0}^{\infty} b_n H_n^{(m)}(x,\lambda;q).$$

It is therefore easy to realize that

(4.13)
$$E_{q,\lambda}^{m}x = \sum_{n=0}^{\infty} \phi_{n}H_{n}^{(m)}(F(x),\lambda;q),$$

where we have assumed that the function $F^{-1}(\cdot)$ can be expanded in the power series

(4.14)
$$F^{-1}(\zeta) = \sum_{n=0}^{\infty} \phi_n \zeta^n.$$

It is clear that eq. (4.12) can be further handled to extend the action of the operators (4.8) to any function g(x). It is worth considering the possibility of extending the definition of operators (4.8) to the case of not necessarily integer m. In the case of $m = \frac{1}{2}$ eq. (4.9) should be replaced by

(4.15)
$$\begin{cases} e_q^{\lambda \left[\frac{d}{dx}\right]_q^1} x^n = H_n^{\left(\frac{1}{2}\right)}(x,\lambda;q), \\ H_n^{\left(\frac{1}{2}\right)}(x,\lambda;q) = [n]_q! \sum_{r=0}^{2n} \frac{\lambda^r x^{n-\frac{r}{2}}}{[r]_q! \Gamma_q(n-\frac{r}{2}+1)}. \end{cases}$$

It is evident that in this case $H_n^{(\frac{1}{2})}(x,\lambda;q)$ is a relation analogous to (4.10) holds, namely

(4.16)
$$\left[\frac{\partial^2}{\partial\lambda^2}\right]_q H_n^{\left(\frac{1}{2}\right)}(x,\lambda;q) = \left[\frac{\partial}{\partial x}\right]_q H_n^{\left(\frac{1}{2}\right)}(x,\lambda;q).$$

or involving semi derivatives [13]

(4.16')
$$\left[\frac{\partial}{\partial\lambda}\right]_{q} H_{n}^{\left(\frac{1}{2}\right)}(x,\lambda;q) = \left[\frac{\partial}{\partial x}\right]_{q}^{\frac{1}{2}} H_{n}^{\left(\frac{1}{2}\right)}(x,\lambda;q).$$

This definition can be extended to any $m = \frac{1}{p}$, for some integer p.

Acknowledgements The author wishes to express his heartfelt thanks to the Human Resource Development Group Council of Scientific & Industrial Research of India for awarding Senior Research Fellowship (NET)(F. No. 10-2(5) / 2005(i)- E. U. II).

References

- J. Cigler, Operatormethoden für q-Identitaten, Monatshefte für Mathematik, 88(1979), 87-105.
- [2] G. Dattoli and D. Levi, it Exponential oprators and generalized difference equations, Nuovo Cimento B, 115(2000), 653-662.
- [3] G. Dattoli, P. L.Ottaviani, A. Torre and L. Vazquez, Evolution operators equations: Integration with algebraic and finite difference methods, Applications to physical problems in classical and quantum field theory, Riv. Nuovo Cimento, 20(1997), 1-133.
- [4] T. Ernest, The History of q-Calculus and a new method, Licentiate Thesis, Department of Mathematics, Uppsala University, SE-75106 Uppsala, Sweden. [http://citeseerx.ist.psu.edu/viewdoc/download?doi=10.1.1.63.274&rep=rep1&type =pdf].
- [5] T. Ernest, q-Bernoulli and q-stirling numbers, an umbral approach, Department of Mathematics, Uppsala University, SE-75106 Uppsala, Sweden. [http://www.math.uu.se/research/pub/Ernst12.pdf].
- [6] L. Faddeev, A. Yu. Volkov, Phys. Lett., B315(1993), 311.
- [7] D. B. Fairlie, q-Analysis and Quantum Groups, in Proc. of Symmetries in Sciences V, Plenum Press, New York, 1991.
- [8] G. Gasper, M. Rahman, Basic Hypergeometric Series, Cambridge University Press, Cambridge, 1990, 2004.
- [9] F. H. Jackson, Q. J. Math. Oxford Ser. 2, (1951)1.
- [10] Ch. Jordan, Calculus of Finite Differences, Rotting and Romwalter, Sopron, Hungary, (1939).
- [11] V. Kac and P. Cheung, Quantum calculus, Universitext, Springer-Verlag, New York, 2002.
- [12] M. Asif and M. A. Khan, q-Analogue shift operators and pseudo-polynomials of fractional order, communicated for publication.
- [13] M. Asif and M. A. Khan, q-Analogue of the operational methods, fractional operators and special polynomials, communicated for publication.
- [14] M. Asif and M. A. Khan, Generalized q-shift operators and monomial type functions, communicated for publication.
- [15] P. Nalli, Sopra un procedimento di calcolo analogo alla integrazione, (Italian) Palermom Rend., 47(1923), 337-374.

- [16] P. J. Olver, Applications of Lie Group to Differential Equations, Springer-Verlag, New York, 1986.
- [17] M. P. Schützenberger, Comptes Rendus des Seances de lAcademie des Sciences, 236(1953), 352-353.
- [18] J. F. Steffensen, Interpolation, Chelsia, 1950.
- [19] M. A. Ward, Calculus of sequences, Amer. J. Math., 58(1936), 255-266.
- [20] W. Witschel, On Baker-Campbell-Hausdorff operator disentangling by similarity transformations, Phys. Lett. A, 111(1985), 383-388.